X X7 = =l (Ff105) + tan (€ fxinf) ],

100 AT v (T Tt (F o)
Taad-end-ovw s L, = 14.0T MHa; $T(1(e)=

M5’ b= 857 ton b= JHpe - 232
7-00?43 Q= 1/5‘.—614 Gp= I 5848)

- 0s= f]‘b/ A=1(w1/T)= /[H!o x(1+

W/ﬁ)(’l*’)'f’/w‘@) 10%/[4+10 *9*/ Il .p,gf
o> _ \
0>+1 1-4'2/(.-_00.%)W(f/&r%%)/m

| 1
=0.999 _ = ___(Z__
1#—(1'-{-.155(106) l‘f |5g|06/47'{’

8.1 m- '[10/[41-'){’/{11] To,-a.,,(”; Draposing
180" = S Hane (P igr [6) §ivtn fuigpe = 11328,

AZ

| T _ 'T'
| (‘] 'Elgov) - ' = =

Grive B

83 @ aﬂ___w‘(i.. nhm )Tnm‘ 2,(,0:)
lo%
N G N I L e

Huwal and e 7 i Ahat |T)=
E?uﬂ ,gx_zqzﬂHzmz}T@f)“




| ~205.6% s Ahat ¢, = ~25.6° om

IMW

G’) M/‘WGLWA&M
Ahat -Bffr‘:-lsso fro £=f ., =685 Wy

- ond Aot fr(if e )| = lT/“j 8T W

i'T(’)-r'-nso) =1 'aweeo(s ’l}’,(mw) =%.87.
©¥7=Aan ( 1) -ton! ()t 4!06)
lo%
] kg
USw, Bodo- /IWWL ) B0
6/ rwt -Fz/Tc» gz/lo -lochz

L ="150Hz and. &, =33. 3°, wbicde &
&MEOM ﬂdﬁﬁmtﬁna/ﬂoww

Mhat 4¢_6 Flere '?f\,diels 4.=5%0
kKHz omd @, =Lt 50,
@’) 't""l'LO = 508 LH=z ) 7793-'"-6.0.

{4= boktz, £42369°) ¥T=~120°

&‘ @) 9mzu5° for £< 133 leHe omd_
£ .65 Mz, Since o (3193 kHa)YE 456 VIV

and Ja (3165 kH2)|E 21.3 V)V, The peramis—




)

A I(w Bane (v 1/456 V)V omd_
L7 1{21.% VIV,
k) $< et He amd L3 124 kHe;
P2 1/18T VIV and (‘ﬂ? 1/8.06 V/v,
@) _q_ ERORTA -ll.,HE) ¢mt(m) 5’35'0.

Problem 8.4

Vil 0 ac 1

R1 1 0 1

eHn 2 0 Laplace {V(1,0)}={1.0E5*

shn 2 0 { }={ (1+8/62830) }
g‘g{dBBOOlLaplace {v(z,o)}={1/((1+s/62.83)*(1+s/6283))}
.ac dec 10 1 100k ) |
.probe

.end

LO0K ez s m mm mmmm m e e s o ey
1 1
1

1.0K4
]
]

1‘0_:_ _____________________________ e e ————— H
a vm{3)/(1¥)

1.0Hz 100Hz 10KHz= 100KHz
o vp(3) ¢ =120 a -135
Frequency -
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Problem 8.7
*LHP zero

Vi 1 0 ac 1V

Ri 10 1

el 2 0 Laplace {V(1,0)}={1+s/6283)}

R1 2 01

e2 3 0 Laplace {V(2,0)}={1/((1+s5/62.83)*(1+8/628.3))}
R2 3 0 1 _ '

.ac dec 10 1 1Q0k

.probe

.end

Problem 8.7
*RHP zero

Vi 1 0 ac 1V
Ri 1 0 1
el 2 0 Laplace {V(1,0)}={1-8/6283}
R1 201
e2 3 0 Laplace {Vv(2,0)}={1/({1+5/62.83)*%(1+s/628.3))}
R2 3 0 1
.ac dec 10 1 100k
probe
end

=50

o o dblvi3))

T & & A 1 Oo

r{k““o i

‘L . @@
-1004 ! 407

: : i~ 180°
-200 4 . ) . . .\\\\\;\\\ . i

| RHP:awv'ﬁ ° E

; 3 ; } . E-—?fTOG

1.0Hz 100Hz 10KHz 100KHz2

O ¢ vpi3) a4 0 v -90 o -180 + —270
Freguency




C'QOI

1)

i!

Prcoblem 8.8
.1lib eval.lib

VCC 10 0
VEE 11 ©
*Circuilt
Rlsc
RZsc
Cnsc
RLsc
CLsc

RN O
COOoOFN

dc 15V

de -15V

to find Tsc:
10Ck

100k

S5pF

2k

100pF

XO0Asc 0 3 10 11 1 ua741
Vr 2 4 de oV
vVt 4 3 ac 1v
C00 4 0 0.1kF

*Circuit
Rio¢ 0 6
R2c0c 6 5
Cnoc 6 ¢
Rl.oc 5 0
ClLoc 5 0

to find Toc:
100k

100k

5pF

2k

100pF

XQAoc ¢ 7 10 11 5 una741
.00 6 7 1MegH

Gt 0 7 4

3 1u

-ac dec 10 1 i0MegHz
.probe ;Tsc = I{(Vr)/I(Vt), Toc = V&) /V{7)

.end
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—200di

100
r

B0 b o e H
o -db (I (Y£)/T(Vr)+V (7)/V{B)) ¢ O
Odr

1.0Hz 100Hz 10KHz 1.0MHz 10MHz
o —p{E(VEY /1 (Vr)4V(7)/V(6))-180

Frequency
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8.3
© vt

.-F______Vr _ -KsRC -
V.~ I (sRO*+3sRC

Le;bl’»/wéf S=qlnf RC7 \/(mloq’), K~2.8,

T= -2.83%/10”
" 1=Ehe) +59 +0
We obawe thet [T 2> mavimized for £= 107

e, mhow me Rave T(310%)= - 2.8/3 or
T= B3[%°, The conit has Aherfore
o ,%am mengpm. of- 2049, (3/2.8)= 0.6
4B,

810 |(&) Tor L7710 Hz MMW
—abog ¥ 10° . o M—amd - et
Teeb e ey P et

fP pa &wrfe, 8.1 met Jumel That [T ]=1 for
" {;i&: 186 MHE:’//AVE\P/LQ xm=-128.2°, Thus,

&= 51.8°, .
e rom (1) W mer hanwe TE —— D v';’ﬁcee_h _

A SES T T
R TR R

Pt He, Ty fr L 60" 518, sl e

840 kHz awd ¢, = .3 MHe . Ths gover fo=
. W&’ﬂwo m%«iﬁ% 5‘1‘1"[/\4\43.,{?/&45{'@0 et




@/EVCKE\MNW{F«\ ,(32' Aff’f@l&;é@\«rﬂ%mwb-

| @wrfs e W ’M:Fo’\&fm;@OOW&M@@O(.FZ’

= 1.5 MH=z. me,,%(: 864 kHz.
(€) Swice 45? <. 51.3’"/ mre el f, < 1Mz,

’Bg & sowifon MWG{’WL /TQJ«MW Y

W L= 1Az MHz amd fy = 4, = ToT kH=Z.
%11

5

(I): e (14 #{2?))?:4.,)4/,05)2 ) |
¥T= - [taw (#/10) +2 dan™ (£/105)] y ¥T=-1%0°
for £2 o0 = 100 kHle, whoe [T|= 5, . Theom
%4 oscllation acwwgw Bo = 1/5=0.2V/V.

B . = 4Ll KMz, [T(5 44 K|
zo\epo, F'o: 1/20.6 V)V,
€) L1 = 26.8KHZ, p=4/348 VIV,

g.12




L= fIRE. APy > 2V = ctatdecounit
mith, J = Lz,

Z=L = 1/(’:==2(4-:-25L/:e)=-_‘z.(4’rr5£’//,{.’.,)J [,z
R/4wl . M'I/(&Ae/;a/wW abfy,
the I‘l/ryl W Arendls Arwane[md il

wdmJrolitmy

s oL/l
: Ela»l e K’Zp{ §<f‘

£ N Ao N A AN
Z:»-Q;_ Z'-’-“—-CL Z-‘-‘-Ll_
&W “ r&wm, a aitomee Rs an
P/ | cnve Yabtons out b [ o] = 2>
(1+ZK5/R).

8.13 | welh, R; mrﬁa.cz,wtjvaﬂt

4 R _ 1 f/A= _ | -
p- 1+ Rt /s~ 1eakrtp > 42 arr (R+8<)C ° =

1m0, Suice me pupack; (@, <R, ik followo That

f2 2 (o210 Hz , po mwt cam mnll

a2 0b 14840 S 6904 wet

nE 1+9£/100
W,ﬁp < 10 kH=z. MWM%%QJ«IE»

madefp =8 kile, somd, thom wnt_ Ao Fusk-omd
VW_W&M,& omd @ . This




Gantn £ = M3 kM and &, = Col”) btk s close
2,z 1/(2wx8x0>*10x5*) T 2.0 kR. ‘rlux;;en_

| Mw,w H= HM/(’H—‘I/T) ()&)/(44—4/7)

[ ~ 1+ 9 £/&vo0

|+1 S EGrathon) . '
ﬁi W lob(1+5£/%,000) ln‘t) *6 wq)/ag

S Rz 0.8

(BMY | o = | /(21 T8 Tx 10> x1078) £ 200 Hz.,

Eq, (8 lLHa) . .[.'x::
(260 x10° )% s ktz.
FoL Qu = 45° impose
1/@nRdp)= £,. This
'2(”@“ G l'{SFF (mee 150 PF)

Rih_/sC‘

RIWsE +1/sC
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'8.1‘1 m riblde, L. )

60r 10 C‘f{. 3 ]—c- = 2‘[[" (“IIIRQ) (Cm + C{_B = 30-;1‘]()%(6,“‘*' CF) =
?

%3{”03 ‘FP MWS/ schual teluts

7= 10 t+at/ e m%mg,,,, Ao finel

)£ 4154/ 663107 +’I/2'Fr
f, ruchAhat ET (56:)= ~ 120, Stardiag ,f)tmitﬂb
Jcﬂom'&w@ wtimadl fp = V6631103 10x10° , ound then
wing Ao b-amed - oo, rve Pinal £, = 2.5¢ Mz
Thas sty Lo = 58T kHe, £= 296 Mz, and
dp: 2.07 f?F.

With, = 60%, e have GPE 0.7d8 and
052 9% . Moove, A= Re/R)Hep , mhsne Hip
M Fhe W’WM’“P&?S’ faspome i th,
(e Pnotlon. 8.16) £y = (58Tx1g7x 10" e = 2.2 Ntz
amd, Q= [ 07Be10%)] "/ T+ /(256 x108)]= 084,

8.18 @) Fn émwef’.mm{z:%fﬁoﬁ: la..MHz,.
ot ATem (RIR)x 6x15] =107 =7 R [|Re= 994 12
7 Ry =Ry = 2.00 L,

©) T=ap=(p wﬁe/mC)/(**oP/w‘%)“MH TV
Use Truad -amd- omer Lo fonel Lo punch et g7=
~tee? ok = Jx < Stert owb anith pwilead eti -
mafl b= 12 MHe. Theronlbir fo=15MHz,




—Fx': 8.63 MHZ/M RINRZ_: 663 (L= R,=Rz
.30 kL. |
@)TMW@%W%%

Smee R> RillRy e
com. mile |
R |
b Trm TRRC
_ 1/14
4+ £ /5.9 x10%)

o B Lxlp® /1 R I I
Moo e ey el-andena

5= 5 ke ¢m§12°)mtmmm?ﬁ.

Cf—.\ Vo R 0 0~V VeVa , e/l -Vu

- \/$CI.“ T '1/5’04. R

%é :%* @mgww/

_Vm_ 14 sUMRe
P# Ve

2 U 14+sRCatCp)
TOWG W@ WW pipose. WG =
CuCe = Ce=0C /1o = 1 PF.

To + Vol (115 o) {V )R =0 5 Asdal = Vo [Ti =




RS 54/57) = A/ 1RG) = 5 KHe. The
actinl gam, borde, a/fyo&ai’lq.s‘k,“a//&mm
M&Wwd 'H-x:il__o‘/ﬂ_‘-".-. 24 kHz.

19.20 “

= rp (3 ']F(l':?){%l,,) Rf—lzz 'FP errc‘

Fee q%n = 45°% Anmencf{% | KrﬂQz{sz We. tjﬁgsaéf‘
() fp=5 M2y O £ 318 pF () fo= tMHe, 2
.59 m @) d_ & (5% pF.

@) = /L€ (/)] Uwg Fruak
awd 8y, L o po thet 4T (4f)=—120°,
dartimg avith fp = 10 MMz as imitiad extimale
Theromdt iv £ = 15 MHZ. S0, (, £ 106 PP

]87.\

Problem 8.21 (a)

Vi 1 0 ac 1V pulse (0 1V 0 1ns 1ns lus Zus)
Rl 0 2 30k

Cext 2 0 3pF

Cc/2 2 0 6pF

cd 2 1 7pF

R2 2 3 30k

Cf 2 3 9pF

eald 5 0 1 2 1Meg :dc gain

Reg 5 6 1Meg ipole frequency at
Ceq 6 0 7.958nF ; Fb=20Hz

eout 3 0 6 0 1 ;output buffer

*feedback network:

R2f 1 4 30k

Cff 1 4 9pF

R1f 4 0 20k

Cnf 4 0 16pF

.ac dec 50 1k 100Meg

.probe

.Eran 1ns lus Ons 1lnsg

*a=V(3}/V(1,2), A=V(3)/V{(1), 1/beta=V(1l)/V(4)
.end : .




04 s .‘.“é
i lAl. ' P E
: ’E-;d& x 1.2% MHz :
204 e e m e mmmacccammma- oo csamameee i
100KHz © 1,0MHz © 1DMHz 1G0MHz

e db(v{3)/¥(1,2)) o db{v{1)/v(4)) a db{v(3)/v(1))

: . Frequency

e e ':
2.0V E
s ", (£) 5
1.0v4 5
oY t--rr- - wmmm o qumm oo Pro——mmmo oo ot emmm == ———— 4
Qs 100ns 150ns 200ns

Probliem 8.2l (b)

Vi 1 0 ac 1V pulsge (0 1 0 10n 10n 5us 10us)
R1 1 2 10k '

R2 2 4 20k

Cf 2 3 56.25pF

Rs 3 4 50

CL 4 0 5nD

*al 1 Meg, fa = 10 H=z
eal 10 0 0 2 1Meg

Reqg 10 12 1Meg

Ceq 11 ¢ 15.92nF

ebuf 122 0 11 ¢ 1

ro 12 3 100

*]1 /beta:

rof 1 33 100.

CFf 33 22 56.25pF

Rsf 33 44 50

CLf 44 0 5nF

R2f 44 22 20k

R1f 22 0 10k

.a¢ dec 10 10k 1G
.tran 10ns 5us Ons 1l0ns
. probe

.end




§-nd8 & 170 kHz

] ]
1 ]
i i
1 1
| . I
i A 1
i \ i
o S D A e LA

10KHz 100KHzZ 1,0HHz 10iHz 100MHz
o db(v{12)/v(0,2)) ¢ db{v{1)/v{22}) a dbiv(4)/v(1))
Freguency

Ri=20LR, o= 80LR, G = (.26 pF, Ro= LU
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Problem 8.2%
*al
eald 10 0 1 2 1Meg
Req 10 11 1Meg
Ceq 11 0 15.%2nF
ebuf 12 0 11 0 1
ro 12 3 100

Vi 1 0 ac 1V pulse (0 IV 0 10ns 10ns 10us 20us)

= 1Meg, flbo =

RVvi 101

R1
R2
Ccf
Rs
CL

W NN o
[oNRTER o 8

4

20k
180k
6.86pF
11.11
¢ 10nF

*1 /beta:
rof 1 33 100

CEf
Rsf
CLf
R2f
Rif
.ac

.tran 0.1lus 10us 0 0.1lus

33
33

44 0 10nF

44

22 0 20k
dec 10 10k 1G

.probe
.end

22 6.86pF
44 11.11

22 180k

10Hz

10KHz

N
-

[ T

100KH2
o db(v(H/vi1)) o db{v(12)/v(1, 2)) a db(v(l)IV(22l)
Frequency

10HH2




9.13

R’:‘ 90‘(0: 9 k{L

_( Bxgl  \Y
Ce= (lsm\oo:«m"

% 300 )ﬂ"l.

Problem 8.23%

eald 10 © 1 2 1Meg

Req 10 11 1Meg

Ceq 11 ¢ 15.%2nF

ebuf 12 0 11 0 1

o 12 3 100

Vi 1 0 ac 1V Pulse (0 1V 0 1ns 1ns 4us 8us)
RVi 1 01

Cf 2 3 300pF

Rs 2 3 3k

CL 2 0 5nF

.ac dec 50 10k 1Meqg
.tran 25ns 4us Ons 2Bns

N o

10KHz 100KHz2 1,0MHz
a db(v(2}/v(1))

.probe
.end
e 1
ol S g
i GPs 1548 ;
2,04
| j

Frequency
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8| @) oo =1 VIV eeamse &) acts ao a

Skt the Lemit {00, CD’WA?AWMQ)

= Pty = £, vivdicaliig that an fons an
mdrwwmﬁ)m stabte, 10 s s
MWMW’M% ,faﬂlm

(b) M,Evzgh Mu%oiea tﬂb@fs actag

Shnts,
/fcam(g

S0 Pip = 1/(1HCRu /) = 4/(1+1), amd-
& st crewt math gy = {, /(1+K).

8.5
e op

&) SAﬂaw,;; V; J bregl Wﬁ? Py

W's W)qumw

Vet ) amal plot 3 = Vit /i, -
@ | G ® R

V. Rz lOmF 259 —
it 1L 3kl '?l_

f

vm@) 10 F

PROBLEM 8.25a
Viest 1 0 aAaC 1

R1 O 2 802
Cl 3 1 10n
C2 3 2 10n

R2 2 1 318k
ECA ¢4 0 Laplace {V(1,0}}={100k/({1+5/62.83)}

.ac dec 190
.probe
.end

1l 10Meg




i.0OHz 100Hz 10KHz 1. 0nHz

o VM4l /Vvm(l) o ¥m{1)/vm(2)
Frequency

The above plot roveads & gtoble onom”
/W‘tﬁ\ 4 '-'—-FJC ond_ 47491 =90°. |
®) PWM& A v () At e ;

lausMe Vo LTk 3.9

C
o 3 ?h; |
V‘&&E Ra - 'ﬂ@ 2 Cz
' ¥ F AR
LéoThe

PROBLEM &.25hb
Vtest 1 0 AC 1

Rl 4 0 1.6k

R2 2 3 1.6k

R3 1 2 1.445Meqg

Cl 1 4 3.3n

C2 3 4 3.3n

EOA 5 0 Laplace {V(l,O)}={100k/(1+5/62.83)}
.ac dec 10 1 10Meg

.probe

.end

The peaudt 4 ,a%am & stodle einenitaith
'Ex"fgl: . ‘l’m: 90°.




m+
1 0Hz 100Hz 10KHz 1, 0MHz 100MHz

B.'Z.G 3600

e

A ST 13 o) (14 eont0)

I —— I
ﬂ/ "‘.—--.--:—-—--—- -~ sl T e “
W—/H/H}/F Ald ) ] “[5% 0 /d/MW/

Jou drrlp 5 ¥ = FAMLTI° .

©) Fou b= 60, Jind The fpeguensy {op0
bich ¥e =300, Usigp Tual and ovun (Pspice
M adio felpp), v finel £a00 = 30 Mz, mhore.
(B0 | = 527 . So, fu= tBoxio’/F2q L L3I kkte.

&) The poguonc o which X Aad =~9°
& { qg0= 18T MH2, mbure |BRyld | = 154 . T2
GM=12dB, me st [T (3 g0)|= 10772 3
jmdicaling, that L4 = 1.8Tx10* /(15¢4x4)= 3.0k
kHz.

(©) With, o Leond —arden “ .
& (34 mddoatorthust éiij
meed Q= U134, 2 020 Ay B (8:6)- 5%,
pe [ 2 650x07/298 = 2.2 kil




@.) OS:gz = 520,6"€'ﬁ gf)m:@‘téo“-?
_F&; 360 2((03/?'7’7 = )97 LIL.
8.7 ‘
4 lal @"> er{u.taa,rg&_
—/Bl at L=f) . T
| ; ’a’o'Fd,'-‘— 1fL 2 fo =
- N g 106/103= 14 gHz =
e f1 (’?_ ‘/(ZURC)‘ Lt d =
AmF. Thon,R= 158 kL.

(b) ssBW 2 {, = 1MHe.
8.2 lok

“ et G

0f 8= gt
A,z 60dB = 1000 T/ => 107 = “‘OQP =p= 9xbo
VN, T =9/[irikfe i tR.)] - &= WE
= 65.5°. Ve Tual and omn o M@ZA«wﬁ,

el ¥T(i6)= ~ 165°. Tunl and vt
f,= ke, f, = 155kHe

829 [ @) tfp= 1+ Restim ol = kodB. The o0
i la] Kt e, o
i
T N\~ 60 d8/dec Mf'f/mmeo
1 E\R e Ao ~60dB/doc-
b E = ¢, 2—90°.
) L

9 M\ \’* = e,

10° Uz,




b) Swice 4. coitiiliuter -9 at f=Ly f ot
ke ¢M7Q§,_-WW_MWA of a ot
/F'x,mwiffrc*%"\ Suinee. U hap Atvee idowtccad
A ~452 )5 =~ 57, g ~15° 2o o (165
5\7\!-0) £z 26.% oz F.‘,Wg,@fla,} -L{:‘F?L/((MO)
= 26.3x07/(107/001) = 2T He. Use C= 0.14F,R=
620 kL.

830
?(«“Vi*r% +$C'«V{ +sC (V%) =0

3. M *’%4* sC,V, +s o (V) =0
Eﬂimmmg Vi e mg’)

-VZ. - I"‘SCC/%/L
Vo Brifulte {+As +Bc2

A"-} R!RZ%ZCC 'I"le (C( ‘f"Cc,) 'FR'L(CZ"{-CC)
| .B: RtRL(Cl Cg,.-f-Cl Ce —I—C?,Cc> .
wmmg .
7 _ S S\e 43 S

f+ase st = (142 (wwb) 2 T
wllows pi to dime W= /A and. Wy=1/B0) 5 0
w A l ™ l

TG o) + RU(GTC T, ReleCe ™ RuRaCe

. o %z,c‘c
LT G+ (GHCOC

WX@LMWW%MW%




‘ﬁ%, Ma&ﬁu%mtﬁmm Abors L%S,
Wy :_%@/dc we Thup bvanre

Y |-,
Vi bl gele (1 5/ ) (45 fwz)

&.%\

YL 1“]‘4/50::104’
T=10" 77—

(1+3%00) (1+5:4/15 ) (14 561106
USM‘&& Aol amd YN, M £,=T.9MHz
il ¥T(36) = ~Tori (1:9/50) - [ e (19510 100)
+Haa (19 flo) + ! (1.9/77)] = - 9"~ 90°-
429‘30 _5-‘410 - [L{-’ﬁ\o -_'::? @Wt: 3( .9 0-. .

Rl Swce A an M Wﬁw
Q) - Ao
P KA [+ £ /6B ao)}[ 1§44 \ 110 (ioesP)
Ty =60° e meed, 5T (5.GBP) =
-Zodﬁ/d% ~120°, o ~ [ tan' g, +
f 10659 ta" (6 BP/£2) ¥

0 ﬁf "\ A= (0.4) =120
_ GBP__
N ‘FZ = .th 24.29°

= 2.2x &8P,




) e —eld= 1¥/(1068P)]
T LAt E/@BPae) 1x [ 1) £/8,)

FoL P = Us” ampere KT(768P)=~ 1357 o1 -[tan 0.1
T Ao ~tani ! (GBP52) = 1359 2> £, =) GBP.

333 v Vi=- 4 Vi Z , mhine Z 4h el That

d i 1+ 5[K: (Cr'f'C:)-}'Rc(c]%‘S R[CRcQ
EARECE Rer A/sCe R (ts ReCe

- 4ts e C
- %1 14 s [R (Cl c) +Re (c_l‘{'sz R-ICI RC C ?EWWB’

V1 = 4R 1tslwe {+s/wa aves
T 45/0a) (5 5/ulp) 1450, + 5%/ W0 e

Wg = VL, Wy = /[ R (CACY+ R CI %A /R
WL: [R\ (Cl'{'Cc)—'-RCCCI/RlG ‘Zc_(cg 4/RC,C1.‘

3ok

Problem 8.34
rd 1 2 1Meg

gl 4 01 2 2m
Rl 4 © 100k

Cl 4 0 15.92pF
*Pole-zero comp:
Co 4 44 15.9nF
Re 44 0 10

g2 5 0 4 0 10m
R2
c2
el
R3
Cc3

=l Gy o

vi 1l 0 ac 1 pulse (0 1V 0 1ns Ins 0.4us 0.8us)
Rf 2 3 1k

.ac dec 10 1 100Meg

.tran 2Zns 0.4us 0 2ns

.probe

.end
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Problem 8.39

Vil 0 ac 1 pulse (0 1 0 10ns 10ng 2us 4us)
@OA 33 0 Laplace {V(1,2)}={8E6/(1+s/6.283))
ro 33 3 30 '

REf 3 2 20k

CL 3 0 BnF

Ra 2 21 6.8k

Cc 21 1 220pF

-tran 10ms 2u 0 20ns

.ac dec 50 300k 30Meg

.probe

.end

—50;'____"""“___"‘“___l_"""_____"““__"'""——__"""——1_"“————_""" "j
300KHz 1. 0MHz 101MHz 30MHz
o dbiv(3}/v(1))
Frequency
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